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el 1,200
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O Az 3,200
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= de: 3,200
L 6,400
e 80,000
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e 4,000
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22y 32,000
=27 9,600
HH e 20,000
Had 20,000
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EME AR = 4,800
orziopal 64,000
AR Y = 160,000
SR 160,000
QIELE 7,200
U U 5,600
R 12,000
S 3,200
o 3,200
X|=este 6,400
X|=Hals 5,600
E&E 16,000
gz 6,400
= 1,600
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ST 8,000
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pH
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pH
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S8E 4,000
B 2,800
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s 4,000
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=23 6,400
pH
ZAHst0|E 57,120
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f;ito* 230120(;)00 o &5t
S o i
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IXNEE 160,000
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288 4,000
NEEEE 4,800
OHE HEle 3,200
EREES 5,600
e 6,400
nEgd= 6,400
gy 6,400
EXTERIIS 13,600
ofzlotal 64,000
Yeixly g8 160,000
oH 4,000
SR 168,000
Ot CH 7 9 16,000
ofat ) 16,000
28E 4,000
NEEEE 4,800
opgt Az = 3,200
EEEE 5,600
FE e 5,600
X3l 6,400
=PI 6,400
HYRE 20,000
=z 6,400
EXT RIS 13,600
ofzlotal 64,000
Yeixly g8 160,000
pH 4,000
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s = =1 AL AL
=58 dE7|848A =R
SO SHAA
sEERYS 29 NEg=E ot | 71 AEaea 42
CE 4,000 5,000
5 12,000 15,000
02l Hateol ygd e 46,400 58,000
= AR (A EE 2Za|) 12,000 15,000
=EAEEE) 8,000 10,000
46182001 OIAEEEXREE TEAEZELH Y E) 28,000 35,000
=EAE M) 16,000 20,000
QHHES 7| X3 112,000 140,000
S X2 (NaCl Aerosol) 112,000 140,000
S EF@EetEH YY) 112,000 140,000
FHE 573,600 717,000
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